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Q4.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question Working Answer | Mark Notes
x=0.417417 M1 for 1000x = 417.417
1000x =417.417 ... and x=0.417417...
999w =41 L |acceptx=0.417 selected

for use oc
show

atfor 2 oo

Total 2 marks
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Question ‘Working Answer | Mark Notes
g MI Two correct decimals that, when
3= 0.2666.... and 10x = subtracted, will leave a non-recurring
2.666.... or value with intention fo subtract.
2.666.... and 100x = Must see a recurring symbol or 3+
sixes.
show | 2 |Al Mustsee a fraction prior fo seeing

4

Alternative method

eg. x=0.0666.__ and 100x MI for conversion of 0.0666.._ toa
=6.666 fraction
with subtraction

2 [AT for conclusion with all steps seen

Total 2 marks
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59
330

M1 for 100x = 17.87878787

or 1000x = 178.7878787... and
10x = 1.7878787

M1 (dep) for subtraction, 100x ~x

177 177
or 1000x - 10x or 2 or 2. seen
5 % 5e0

Al working leading fo given
fraction
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M1

For a fully complete method as far as finding
two correct decimals that, when subtracted,
give a terminating decimal (or integer) and
showing intention to subtract

eg x=02550 10x=2.55 then 9x=23
leading fo...

correct working to conclusion
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o 3 M1 for 0.28181(...) or 0.2 +

X=028181 0.08181(...) or evidence of

100x=28.181 correct recurring decimal eg
281.81(..)

90x=27.9 M1 for two correct recurring

decimals that, when subtracted,
would result in a terminating
decimal, and attempting the
subtraction

g 100x=28.1818._ x
028181... and subtracting

eg. 1000x = 281.8181..., 10x=
2.8181.... and subtracting

OR 2795 or Z1%g) 0e
At cao
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proof
leading to
7

2

M1

Al

for finding two correct recurring
decimals that when subtracted would
result in a terminating decimal or
integer with intention to subtract
egx=0.31818..., 100x = 31.81818...
fully correct proof
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Proof | 3 | Ml for (x=) 0.04545(..)
or 1000x = 45.4545(...), accept 1000x = 45.45
or 100x = 4.54545(...), accept 100x =4.5
or 10x=0.4545(...) ;accept 10x = 0.45
M1 for finding the difference between two correct,
relevant recurring decimals for which the answer is a
terminating decimal
Al (dep on M2) for completing the proof by
subtracting and cancelling to give a correct fraction
45 1 45 1

= o 2= —
990 22 99 22
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Working Answer | Mark Notes.
X=0.396396..
1000 = 396.396....
999 = 396 w1
2 | A mustreachZ lent
must reach > or equivalent
4 255 O
1

fraction (but not

m

Total 2 marks
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Question|

Working

Answer | Mark

Notes

¥
o

01777,
6

W 10=1777.

1690 0e

Seeatleas 3 sevens of ecurring symbol_ Condone Omission of X

M1

Accept 101

1.777..and 100x=17.77.

‘Must be ntegers in numerator and denomnator

but not 8 & 45
NB for 0177

10+0.0777.

(0.777 needs to be shown to be 7190 to gain first M1)

Total 2 marks
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Question|  Working  [Answer| Mark
(x) 001515 and
1515 M 15.1515. selected
M 15.1515. selected
15/990 0e 2| Al but not 1/66 Numerator and denominator have to be integers.
Ve6+ * Answer given

Total 2 marks
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